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fitfEEE s — b (& 3{vba-tA) i YIFvy-t A ¢80 (BFEN vb - 7-7° &E) =13 1,000
fitfEE s — b (& 3{vba-tA) i YIFLvy-t A 100 (ETEN Y - 7-7° BE) =13 -
fitfEE s — b (& 3{vba-tA) i YTFLUY-t A $125 (ETEN U - 7-7° BE) =13 -
fitfEEE s — b (& 3{vba-tA) i YTFLvy-t A 150 (ETEN Y - 7-7° BE) =13 -
&g — b (" 3{vba-tFH) #YIFLUY-bA 9200 (BEFEN Y - 7-7 &E) R 1,940
it &g — b (" 3{vba-tFH) # YIFLUY-bA $250 (BN VE - 7-7 &E) R 2,330
it &g S — b (" 3{vba-tA) # YIFLUY-bA $300  (BEFEN Y - 7-7 &E) R 2, 640
it &g S — b (" 3{vba-tH) # YIFLUY-bA $350 (BN VE - 7-7 &E) R 2,950
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fitfEE s — b (& 3{vba-tA) i YTFLvy-t A $450 (BTEN U - 7-7° BE) =13 -
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it &% S — b (O 3{vba-tA) # YIFLUY-bA $500 (BEFEN Y - 7-7 &E) T3 4,040
it &% S — b (O 3{vba-tA) # YIFLUY-bA $600 (BN Y - 7-7 &E) T3 4,820
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it &% S — b (O 3{vba-tA) #YIFLUY-bA $1100 (BEEN VF - 7-7 EE) T3 8.550
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fitfEE s — b (& 3{vba-tA) i YIFLvy-t A 1500 (EEN vF - 7-7° &E) =13 11, 600
fitfEEE s — b (& 3{vba-tA) i YIFLvy-t A 1600 (EEN vF - 7-7° &E) =13 -
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fitfEE s — b (& 3{vba-tA) i YIFLvy-t A 1900 (EEN vF - 7-7° &E) =13 -
fitfEEE s — b (& 3{vba-tA) i YIFLvy-t A $2000 (EZEN v} - 7-7" &E) =13 -
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it &% S — b (O 3{vba-tA) H YIFLUY-bA $2400 (EFEN VF - 7-7 EE) T3 18, 200
fitfEEE s — b (& 3{vba-tA) i YIFLvy-t A $2500 (EEN vF - 7-7° &E) =13 -
fitfEE s — b (& 3{vba-tA) i YIFLvy-t A $2600 (EEN vF - 7-7° &E) =13 -
fitfEE s — b (& 3{vba-tA) i YIFLvy-t A $2700 (EZEN v} - 7-7° &E) =13 -
fitfEEE s — b (& 3{vba-tA) i YIFLvy-t A $2800 (EEN v} - 7-7° &E) =13 21, 200
fitfEEE s — b (& 3{vba-tA) i YIFLvy-t A $2900 (EEN vF - 7-7" &E) =13 -
fitfEEE s — b (& 3{vba-tA) " YIFLvy-t A $3000 (EEN vF - 7-7" &E) =13 -
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RKYIFLVRY—T ¢ 100 £X0.2 &5.0m 54
RKYIFLVRY—T ¢ 100 £X0.2 £6.0m 54
RKYIFLVRY—T ¢ 150 £X0.2 £6.0m 54
RKYIFLVRY—T ¢ 200 £X0.2 £6.0m 54
RKYIFLVRY—T ¢ 250 £X0.2 £6.0m 54
RKYIFLVRY—T ¢ 300 £X0.2 K7.0m 54
RKYIFLVRY—T ¢ 350 £X0.2 K7.0m 54
RKYIFLVRY—T ¢ 400 £X0.2 K7.0m 54
RKYIFLVRY—T @ 450 £X0.2 K7.0m 54
RKYIFLVRY—T ¢ 500 £X0.2 K7.5m 54
RKYIFLVRY—T ¢ 600 £X0.2 K7.5m 54
RKYIFLVRY—T ¢ 700 £X0.2 K7.5m 54
RKYIFLVRY—T ¢ 800 £X0.2 K7.5m 54
RKYIFLVRY—T ¢ 900 £X0.2 K7.5m 54
RKYIFLVRY—T $1000 E&0.2 K7.5m 54
RKYIFLRY—T 1100 E 0.2 K7.5m 54
RKYIFLVRY—T $1200 E&0.2 K7.5m 54
RKYIFLVRY—T #1350 E&0.2 K7.5m 54
RKYIFLVRY—T $1500 E 0.2 K7.5m 54
RKYIFLRY—T $1600 E 0.2 &5.5m 54
RKYIFLVRY—T $1600 E 0.2 K6.5m 54
RKYIFLVRY—T $1650 E 0.2 &5.5m 54
RKYIFLVRY—T $1650 E 0.2 K6.5m ® 26, 000
RKYIFLRY—T $1800 E 0.2 &5.5m 54
RKYIFLVRY—T $1800 E 0.2 6.5m 54
RKYIFLRY—T $2000 E 0.2 &5.5m 54
RKYIFLVRY—T $2000 E 0.2 6.5m 54
RKYIFLVRY—T $2100 E 0.2 &5.5m 54
RKYIFLVRY—T $2100 E 0.2 K6.5m 54
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RYTFLIVRY—=T ¢ 2200 -
RYTFLIVRY—=T ¢ 2200 -
RYTFLVRY—=T ¢ 2400 -
RYTFLIVRY—=T ¢ 2600 -
BEAILNAVE $100 & -
BEAILNAVE @150 & -
BEAILNAVE @200 & -
BEAILNAVE @250 & -
BEAILNAVE ®300 & -
BEAILNAVE ®350 & -
BEAIT LNV E @400 & -
BEAIT LNV E @450 & -
BEAILNAVE @500 & -
BEAILNAVE @600 & -
BEAILNAVE @700 & -
BEAILNAVE #3800 & -
BEAILNAVE ¢ 900 & -
BRI LAV E ¢ 1000 E: -
BRI LAV E ¢ 1100 E: -
BRI LAV E ®1200 E: -
BRI LAV E ¢ 1350 E: -
BRI LAV E @ 1500 E: -
BRI LAV E ¢ 1600 E: -
BRI LAV E ¢ 1650 E:S 790
BRI LAV E ¢ 1800 & 858
BRI LAV E & 2000 E: -
BRI LAV E ®2100 E: -
BRI LAV E @ 2200 E: -
BRI LAV E & 2400 E: -
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74v— (FF) 6% 7—¢18mm m -
74v— (FF) 6% 7—¢22mm m -
T4Y— (BFE BHF) 6* 19— ¢ 9mm m -
T4Y— (BFE BHF) 6* 19— ¢ 12mm m -
T4v—  (EHR) 6* 19— ¢ 18mm m -

R

R =40 i 4,300
R =50 i 4,300
R =65 i 4, 400
R =100 i 4,500




